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PART - |
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. At present number of High courts in India
GPESERoS® (5 3_?55680 Dogy
1. 23 2.24 3.25 4.26
. Chairman of 14th Finance Commissionis.
1. Duvvuri Subbarao 2. Vijay Kelkhar
3.Y.V.Reddy 4. Raghuram G.Rajan
145 08 [oxho FHYS
1. &R0 oermyoed) 2. Desdd Seb
3. 3.9. 3¢ 4. EH0T°0 B.0°8
. Which country became the 18th member of
Eurozone on January 1, 20147
1. Belarus 2. Bulgeria
3. Denmark 4. Lalvia
2550 1, 2014 L00& 185 Bore ‘cSures” B
e BV BYo.
L B8or8S 2. 2800k 3. G5  4.orOyce
. World ozone day is....
1.Sep, 16 2.0ct,16 3. Dec,10 4. May, 21
B0 L858 aFKo..
1. 2o 16 2. o828 16
3. 808 10 5. % 21
. Chemical name of Vitamin C is..
1. Ascorbic Acid 2. Folic Acid
3. Biotin 4. Pyredoxin
DS RV’ Fog) BIPAHIE Tev0
1. a8 eso 2. PPO5 who
3. a&BeBS 4. 2080
. The main aim of a teacher towards students is
1. to ensure allround development of students
2. prepare the students for examinations
3. encourage the students towards scientific
attitude
4. conduct picnics every year for students
Dergae D& SarEEand @oBHeF 0 Hd?
1. ééogésma?é')éagé %31 Dosned
2. HBZeH SasrEB0E
3. BepRE D 308800ty
4. DS (B Bo8L

7. Complete silence in a classroom is an
indication of.
1. good teaching
2. class room management
3. fear of punishment
4. lack of interest
35158 B8 570 Voo FreDoT.
1. Hrod &85 2. BBK8 ASressirdgo
3. $0&PE gaho 4. 138 Gituntatel
8. The time for home work once a week to the
classes 1st and 2nd classes is
1.2 hours 2.3 hours
3.5hours 4. none of these
1 5o0Baio 28 EBKEen $63 Drghed s
BRPORV Ho& HA Jodo.
1. 2 Koéoen 2. 3 Koten
3. 5 Kotoen 4. b=
9. Ofthe following, the activity that a teacher is
expected to avoid is.
1. working in collaboration with non
governamental organizations
for protection of environment
2. directing children to choose courses
based on the present demand for those
courses
3. educating the community about risk
factors that affect its health
4. providing guidelines to parents on how to
deal with children
8od Q& €aPTRE000E) BoHEPED &850
1. $og8es HoBEERS [H808BS éogeﬁs O B
Bswe
2. (BB Ao edtnod Ened® B85
DYOB ébé%o:ﬁaéo
3. @8% 0D (Do S wHBe HBoD
$57erd8 SoHes
4. 508" HPTB0BIORY B SYPHBoEHeB
aﬁ:vtécﬁégs‘m: @080
10. Which is important in teaching -learning
process.
1. communication 2. evaluation
2. demonistration 4. process
23565:66—@2;55626 (DBHE® 0 035 6.
1. grSHdrS0o 2. Soreerg08s0
3. (e 4. HBH




PART -1l (A)
GENERAL ENGLISH

11. He never spoke the truth.
(Identify the right part of speech)
1.noun 2. pronoun 3. adjective 4. adverb
12. Find out the incorrect sentence among the
following.
1. Did they send me any books?
2. Had I known this truth, I would not have done so
3. Mohan and Sohan go to school daily
4. 1love teaching
13.1like Prakash and Rakesh ...fondof mangoes
(choose the suitable “Verb form”)
1. are 2.was 3.were 4.am
14. Which of the following sentence is correct
1. you should to be punctual
2. you would to be punctual
3. you ought to be punctual
4. you must to be punctual
15. They were whitewashing the house yesterday
(Choose the correct passive form of the
following sentences)
1. The house was being whitewashed by them
yesterday
2. The house was being whitewashed by them
the day before
3. The house were being whitewashed by them
yesterday
4. The house is being whitewashed by them
yesterday
16. “Don’t waste your time but work hard”, said
the teacher to the students.
(choose the correct indirect speech)
1. The teacher asked to waste your time but
work hard
2. The teacher asked to not to waste our time
but work hard
3. The teacher asked don’t waste our time but
work hard
4. The teacher advised the students not to
waste their time but work hard

17.Shedied ......... heart attack.
(Identify the correct preposition)
1. with 2. of 3. off 4. from
18......... Eskimos make houses of snow and ice
(Identify the suitable article)
1.A 2.An 3. The 4.No article

19. The workers called off the strike.
(Identify the suitable phrasal verb)

1. began 2. postponed
3. stopped 4.increased
20. She will be punished, ........... ?
(Choose correct question tag for the following)
1. will she? 2. does she?
3. won't she? 4. did she?

PART - 11 (B
GENERAL TELUGU
21.108e a8 BIgE & ErdoS® Goenod.
1. &3¢ 2. $B%o 3. DKo 4. rEgedso
22.g788 5358° Beorh FerE08t ZndsS (HED.
1. XBo(8 BSS 2. a0
3. HBJ BBS 4. @5&
23. SRR SrVEITCH BoDheo - ©IB 2.
L ep8abo 2. FHS 3. oD 8§ 4. o0
24. Jords 0N oty (DFPRR Sk

1. 88 2. ahEmSo 3. oo 4. Js088
25. (85508 6.

1. =333 d00 2. Qg

3. @3 4. =%

26. EHerH3010h E8smen 80 — 3089
©®OOS0.

1. eperErd 2. PP
3. ©omg(@PR 4. Hmegolard
27. BH odre.
1 35088 2. O8rs 3. PHEES 4. 08IHS

28. &8)8 @ BOACB. FBe» B, B
K08 0S® ToRS
1. 6&)8 erre 2BA0H 0 FBen SNSH>
2. 65)8 BBACE HOGD EBen SIS
3. GBen BN &8 DONOH
4. 688 DOAT® FBen BB
29. Srifeadin dre
1. @0 2. oo
30. HFgesmen s
1. &8 g0 2. 6oHE TR
3. DEIBAID 4. PO
31. PEDS iy B555 EONG
1. dogmo 2. D3%o 3. Do, &) 8&o
32. 2.8 gPRSE epdairedy HHB grRsts
Sogrdsornr dddolsEo.
1. @oﬁa@cﬁ\g Howsso 2. @6533
3. eI 4. 08508 Lego
33. &30 HO8T 1HBD) .
1. @ég@s B8l oy 2. 0SPG8 EP&D oUW
3. HonETeI8 dnoth) @)
4. EBRETPIE 500tHF) e
34. (8od QS° $BLA.
1. Jxr&o - OHEFBEI00 2. ms@ﬁgo—@%éo&b
3. @&, - 1D Ko 4. 258
35. “&” ©odnib STy DIAELNBH @INHETIN.
1. éoreisord 2. Soreisord
3. Joreisord 4. Boreissord
36. UUIUIU & tHhdoosdndod 8od Hwedd
DBITeH0k.
1. BB S0
3. sedpoXo
37. 6dHerd Hsy oFeso.
1. (HAcHE0 St 2. (088

3. Koo 4. KXo

2. 333%56 Horeso
4. dorrsIngo

3. &dKeen (8) Hoeran 4. ?._326(‘5&




38. Hainssnthy Sirns SRk,
1. GEgd 2. Hodsd
3. HEFomirdn 4. Bemo#isio
39, 808 mné® Spse.
1 deiaraeio - Bnbab el
2. rotshm - S Ded
3. Bowrd sudn - Hodd DY
4, pady
40, (8o o0& B8s=RA.
1, € ool & S5 - Hyomen
|| 2 edped - @eme
3, HfiPrmod - Sgaote

4. eyre - 5,8.0,8,50
PART - lll (A}
MATHEMATICS
41, Distance between the points (a cos 25° 0°) and
(0°, acosB5")=
(a cos 25° 07 Hbafn (0°, acosB5") Dothde
sy trdo.....
1.a 2. &t 21 4 Ja
42 A+ B =135 = (1+coth) (1+cotB)y=__
1.1 2.2 2.3 4, -2
43, log8+log4-log 16 =
1.log 3 2.log2 3.logs 4.log7

44 1f C.P. of a key is Rs.90 and its % profit is 10
" thenits SPis

e8 ardo 5% Jeo e 00 Sbdin ol
10% wond o°0 o2 TO e,
1.Rs.100 2.Rs.101 3.Rs.
45, No of symmetric lines of B

B Gof) Fgslse Sowg = "
1'% 2. 3 .
45. Ortho centre of a tr] ertices are

(0,0), (3.0) and (0,
(0.0), (3,0) &
Baltto.

11, 4/3) 2 (3/2,%2) 3.(4,3) 40,0
Iuﬂ. In atriangle, angles ratiois 1:2: 3 and
smallest size in 5cm then its penmeter on cms.
2% [Bebmod® Blore B 1: 2 3wolh HED
4 dbeso B Do.fo. wonsd o (faghe: DoipSios
2o, 5. o

l. 23.66 2. 16.67 3. 1545 4. 2532
48. Ratio of length and breadth of a rectangular
field is 5: 4 and its area is 5 hectors, Find its
length in meters.

P-4 59;56:5@'5'5 froo BeEd, Stene 51 4
DB 65D, ol Seego 5 TrpHDd, frao
DeEsy. (Daafie®)
H 1. 150 2.250

feore Heo ([Bébe oo

3. 400 4. 300

49, |f measurements of a cuboid are 5m, 3.5m and
2.4 m then find its total surface are in sq.mt. is
a8 BG5ossn Owe; Foder S 5 D, 3.5 &
obdin 2.4 & wond oo ok Howgrido
Seego (30008
1.77.5 2,785 3.758 4 748

50. If GC.D. and L.C.M. of two numbers are 12 and
T2 respectively and on that two numbers, one
numbers is 24, then second numbearis ___
Doth Howge Marmer 12, 290 Errh T2 u
Eﬁuﬁ\u:ﬁi eE58 24 wond Dol Sogyg Joé7
1.36 2.12 3.72 4. 16

51. Which of the following point satisfy the 3x+y <4.
Ity <4 d 563 Doths.

1.(-1,-1) 2.(1,8) 3.(1.2) 4.(08)
52. Sec 21007 = |
, 2 45
53. In Histo 6T a rectangle represents.
- 2. class interval

Ui 4, class frequency
Ao a5 .&Eﬂ-ﬁlﬁﬁﬁﬂ ERESy rmDoihil.
o oy 2. dunN8 woddo

B gy Dendien 4. B8NS Tk

anofa+2 a, a8-2is _____

a+Z, a, a-2 o oSG0,

1.a% 2 -a 31 4 a

55. In a regular polygon, each interior angle is 150°
then its no, of sides are _____
nE Edoduhd Qo) 28 wodts o 150°
SO0R T EDeSi0e O e

1.14 2. 12 3.15 4 16
58. The shape of the decision box in a flow chart is
1. rectangle 2. eliipse
3. rhombus 4. paralleogram
Esodod® mgcﬁ:‘u‘aﬂﬁ o,
1. BEsdatito 2. Bsdo
3. cromh 4, S¥modl Sblipeo
57. 5°-5%"=0 =sx=__
1.0 2.1 3.1 4.2

58, The length of the tangent drawn from the point
‘s’ which is set a distance of 5 cm from a circle
having diameter 8 cm (in cm)

6 0.8, THdn e HEods o oo fol
B Do in. ot Mo 'p' Doth Mol wE
Bded ADS, ool drEd) (ho.dn.of)

1. b 2.4 3 3 4. 2




|

ol 3
59. The 10th term of the series _, 7 ..Is equalto
33 3 24" H
E‘E.E. ....... ﬁa ‘Liw lﬂ:} ;al:r]ﬂ..
3 33 gl 3
20 “ 40 512 024

60, fA=AT thenAis called.
1. scalar matrix 2. skew symmetric matrix
3. symmetric matrix 4. identity matrix

=ATeocnd A 8.

1. ub¥ Sr8E 2. wfrgs SmBE
3. s Smbs 4, S8 SmBE
PART -l (B

PHYSICAL SCIENCES
81. The internal energy of a substance depends
up on....
1. Number of atoms in molecale
2. Number of molecules in a substance
3. Chemical structure and physical state
4. All the above
Sorgsp wosts 98 AV wgrinl sotoob.
1. ePd’n Ssrmpe Homy
2, E’Jwgnﬁaﬂ sorRe FoRg
3. Sorg Dorsdn Lbdh FE5H8
4. 8
62. The secondary colour opposite to green is..
1. blue 2. magenta 3.cyan 4. ye
i) SorbEh SEBEDS Matorh
1, beo 2. Snthi
3, Zmddh Heo
63. In finding the diameter of a

& 0. &0, o,
3.1.38 4 0136
64 Hardness of water is due to the presence of
1. sulphates, chlorides of magnesium and

calcium
. carbonates, bicarbonates of magnesium and
calcium
oxides, hydroxides of magnesium and
calcium
carbonates, sulphonates of magnesium and
calcium
D8 st s dndond Sorge
1. Dfighabo Sbdi sng;:ﬁ.—.&u #idhtoen,

Eﬁcﬁzw
2. Bofyfabo wbdn Hhohe eiRtw,

2

3.

4.

B gytoe

3. Bfphdbo HOKn eHuhle eFjben,
TR e
4. Biphaho Hbda sHHDe sEhEG,
faéw&'im
65. The resistance of manganise wire of 2m length
is 20 (). Then the resistance of awire of 5 m
length of same material and same area of
cross-section is...
2 &, SesHrie SrorhB & 26%50 20 Qead,

5 &y, 2eE EORS o Hbdtn wd
Sgs Seamo B0AS Bt R6%o,
1.4 0 2500 31000 42000

66. The principle involved in working of Hydralic
Machines.

1. Archimedis principle 2. Pascals law

3, Bernouli's principle 4. Joule's law

ok abolgres SREH Hrgo.
1. &8 Bl5 fomgo 2 Fd Ddbiho
3, ad%d dmgo Ddhbo

&7, The chemh:al e alved in the extraction
2, reduction

nd peduction 4. none of the above

B aft-roirnod® as@rsd

fogizie iﬁ:ﬁﬁmﬂ
h- o SOcH guﬁaﬁﬁm 4, pID =G
of the following is saturated hydrocarbon
et Hod)d ‘?E-Lnﬁ“s-qﬁ
- Gﬁ H1I 2' GI H! 3' CI H'!I} 4 c! H'IH
8. When a y -ray is emitted by an unstable atom
1. Atomic number increases
2. Atomic number decreases
3, Atomic mass number increases
4, Atomic number and mass number remain same
Eoitio ol ¥ -88mo HSuond
1. Sdsrm :ﬁf.wﬁ, ol
2, Hidrmo }’aumﬁ [Tl
3. S (S8 Hogy DrbEod
4, e Hogg Modin (BHoed Sogy SO
70. The bonds present in NH,* ion are
1. one co-ordinate covalent bond, one covalent
band
2. twao co-ordinate covalent bond, two covalent
bonds
3. ane co-ordinate covalent bond, three
covalent bonds
4_one covalent bond, one ionic bond
NH,'odi=SE® Ko aogres,
1. e..a' aﬁﬁ:aﬁsdi: NS @ealah amr.'im
e.8 Nidrstch naio
2, Doth Habiedh Ad@relch oo,
Both Hddrefdh oogren
3. 2.¥ S Bindrandh sobo,
Sarth Sodredoh oofren

4. a8 HHd@ralidh volio, a8 uwdrls nofo

I||




PART -TIT(C)
BIOLOGICAL SCIENCES

71. Land Race is a species of

1.sheep 2.goat 3. pig 4. buffalo

roETRH 0558 HI8 BobS &

1. /@8 2. ¥ 3. Hobd 4. 73
72. The cell organells, help in protien synthesis

are following.

1. Rybosome 2. Lysosome

3. Mitochondria 4. Golgy complex
€585 80568 & Semorren

1. 3&°ko 2. 8R¥bo
3. DePeo@asr 4. @ HofHo
73. The scientist first discribed the embryo of chik by
1. Darwin 2. Aristotle
3. Lynnayus 4. Robert Hook
5% 20mRHRR HPoDKH JweseorT
1L OS2 ©0pBS 3. DROHS 4. TS
74.NIN is located at
1. Hyderabad 2. Pune
3. Delhi 4. Panaji
NIN H0% 66° e
1. 3rsoeerd 2. &3
3. &9 4. H
75. Moonijelli belongs to this phylum.
1. Anelida 2. Arthropoda
3. Tenofora 4. Platy Helminthis
LoSBY S8 SeA8 TodHG
> O
1.0 2. oG
3. B85 4. 8 20085

76. In male Human Reproductive system, the
sperms are store temporary in this part.
1. Epididimas 2. Vasa Efferintia
3. Tertis 4. Seminal vesicle
JHI i (H8EB égééé's H|EEegoen
zeEm@8ore Jex Hotd [BBdo

1. QDB 2. Hlsedao
3. oo 4. HE Tezeen
77. Essential to child, Non essential to adults amino
acid is
l.valine  2.serine 3. cystise 4. histidine

Do B3EL0, DLW BTBLER0 @I o
1 85 2. 205 3.525 4. RES
o= = : . : e
78. Bi circulary system having animal is
1. Frog 2. Fish 3. Earthworm 4. Amoeba
Byech &8 (6386 Ko 8D
1. 8 2. B% 3. TIPS 4. w&o
79. The heart of new born child beat in this number
per minute.
1. 32 times 2. 15 times 3. 18 times 4. 26 times
@Kgyé &K)&o:‘i)zé BHHSE Hhod §°é%))§°3 Efafel
QP
1. 32 ddwaren 2. 15 ddoaren
3. 18 Jddoaren 4. 26 ddwaren
80. Risparin alkoloid is excreted by this plant.
1.papaya 2.Rawolfia 3. Datura 4. Neem
838)S O3 s)erond 8 L00& ©gi550rHd

PART - Il (D
SOCIAL STUDIES
81.Indias first cotton textile industry setup in..
1. Calcutta 2. Bombay
3. Ahmedabad 4. Coimbattore
B0 Tyt Sren H(H HOEH B

FROTE?

@

1. 8ol 2. &oeron

3. odmrerd 4. 8°cHoadrdd

82. Soils suitable for plantation crops are...
1. Alluvial soils 2. Black cotton soils
3. Laterite soils 4. Desert soils
&0 20HTIE D Jwen DD?
1. 2,050 Jeen 2. $BKE Jeen
3. BeBeS Joen 4. 508 Joen
83. Match the following. es&5850&.
River & Place of birth aé@@;éo
1. Kaveris*s6 1. Mahabaleshwar $55#0846
2.Pennaaa 2. Amarkantak plateau
@55808e5 SHsgiredmen
3. Narmada $&o 3. Bramhagiri hills
(@35N0 Soen
4. Nandidurga hills
S0BHY &)
1. 9-28-12-4&-3 2. 2-38-42-28&-1
3. d-48-22-18&-3 4. 0-28-12-38&-4
84. “The Victoria Falls” is on the following river?
1. The Columbia 2. The Amazon
3. The Zambeje 4. The orinako
DEEBAST erdo & $BD Ked
1. S00ddsr & 2. ®RerS J&
3. eoBE 5O 4. 2,678 $6
85. The following volcano is present in the circum
Pacific belt.
1. Stromboli 2. Kili Manjaro
3. Narcodam 4. Cotopaxi
28 H1HE 0“3652016 e cHoBd OR)HBBED
1. @083'58 2. 89%v0ers® 3. vSsgroéo 4. §8é.3°@°§(3
86. Which of the following was added to the
preamble through 42nd constitution

4. Krishna ép)ﬁ;;

amendment?
1. Socialist 2. Democratic
3. Soverign 4. Republic

42 & orezgort d58es To° grEE Toezsol
(3885 361383&?6 ©030.
1. Jeasogares 2. (el
3. DL 4. KeaBo($
87. The President does not enjoy this power
1. To convene the Loksabha and Rajya Sabha
2. To prorogue both the houses
3. To dissolve the Rajyasabha
4. To address the joint session of the both houses
D & ©HSBO So.
1. &%, [SEISEARNY BEPSEHE S8
2. 3% Do ég)swo TPONTHONTIE
3. Toasgdgd 6635366@?0%
4. 68505 Jgo Soddng D5 E08® (HHoR0ST#8

L &armon 2. orid@)die 3. SRS 4. 3%




88. The members of standing committee of
municipal corporation
1. are elected by voters
2. are elected by corporators
3. Nominated by mayor
4. Nominated by the commissioner
S0HS 965351565&) ﬁgooa Dogire Hghyen
1. £638 ddpSalsdd
2. 2805 Ay SlearEetd
3. HOHEB DS BohetrEed
4. BEH55T T Boharhaedd

89. Which Article prohibits the employment of
children in hazardous work in factories and

mines?
1. Article 21 2. Article 22
3. Article 23 4. Article 24

D wfEBe (HSeB0 1o HBIEY sooyrrored®

HABoWoBEo ANQOSERIE.

1. @Qéé’ 21 2. @Qéeﬁ 22

3. @Qéé’ 23 4. @Qéeﬁ 24
90."Universal Declaration of Human Rights”

approved by U.N. General Assembly on

1. Dec.10, 1945 2. Dec.10, 1948

3. Dec. 10, 1951 4. Dec.10, 1956

“DETER SPRBPENE (HEES”K0 0E50Pesgd0S

R wlalelAINIAY

1. &%ox8 10, 1945 2. &dob 10, 1948

3. &¥ox8 10, 1951 4. &3ox8 10, 1956
91.Who wrote “Common sense” book?

1. Thomas pain 2. Milton

3. Locke 4. Harring ton
RS IR) OF HISRY BDoDIH DHB?

1. PSR VoS 2. 313%35

3. er§ 4. SPBoh XS

92. Long parliament which year called?
ePOR PHD0ET A & FPEI0ETH HeoFL?

1.A.D. 1640-1660 2.A.D. 1620-1640
3.A.D. 1660-1680 4.A.D. 1630-1640

93. Chequeis a
1. Money 2. Legal tender money
3. Optional money 4. None of these
38 S IW?
1. &ea S (&S50 2. OKS Bowb (&350

3. @B [B50 4. 23O=H

94. Indirect tax example

1. Wealth tax 2. Sales tax
3. Income tax 4. None of these
é@g&zﬁ)&é N letxr)
1. B0 HXy) 2. @é)&é@ SN
3. eTPahs) By 4. 23O=H

95. Cabinet Mission’s visit to India.
SUAIES QRS GBEERE 55

1. 1942 2. 1944 3. 1946 4. 1947
96. Minimum members in a Private Limited

Company?
@_335 OWBE Bonde é(‘{)g Dby Sogyg
1. 2 2. 10 3. 15 4. 50

97. Service of humanity is the service to God “this
is the slogan of.

1. Brahma Samaj 2. Ramakrishna Mission
3. Arya Samaj 4. Brahma sabha
SPBHVHED SPBHVD W6 B (BR) Ty o,
1. (@255 S0 2. TR WBS
3. &85 Jalreso 4. (@35 3¢

98. The service sector also indicates the direction of
1. Modernization 2. Economic growth

3. Social development 4. Industrial development
D Borlo @B HA Krrdkob

1. $988es 2. ©O=PHB

3. ﬁéﬁﬁ?@é@% 4. é@@&)?@é@%
99. Gopal Mitra provoked national feelings in

1. Bengalis 2. Biharis

3. Tamils 4. Kannadigos

A redo(s OOV DB D8S° B grard)
(3:82008.

1. Boreden 2. H5EBen

3. &noen 4. 85&r0en
100."Fascio” is derived from.

1. Roman word 2. Greek word

3. Latin word 4. German word

“F20” ©F HBo B Jo& SD)od.

1. 8%508 H%o 2. A% H%o

3. &S Do 4. &6&25 H&o
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